A. Handsfree Off(PTT) Mode

#

2

3

BPAE/HE S

1 Two Groups ‘50| A =7l D& H

TALK 7| =221 QU 7|

GRP 7| =211 Q7|

4 TALK 7| GRP 7| SA|0f| 27|

§UHS DF0 TALK LI £ LY 7|

=l

A

1ISO7|

Is

S X|H(0f:1.2) HMES| I1S08} 527|5

S A0 TAK LHE L 7|

CJjo| 1& ZA| TALK

>
Yl

oIr
n
0
s

4%

| LED EA|

EH
JASURHZOE), 20/ HZ A E) SA| Listen(RX) 2t St= &
21,2 SA| Listen(RX)SHA] TALK(TX)= AE10|AH Bt L7t S
Z, 1514730 £|0f Y= BPusergOf| A= 25 TX7t Ltz
21,2 SA| Listen(RX)SFH A, TALK(TX)= 1& 20| A Bt L7t &
%, 152 ME0| | R}E=BPusers0f|AH &= 25 TX7t Lt

51,2 SA| Listen(RX) SFHA TALK(TX)E SA|0| 25 L7H= S

HHt Ol

QEUX| Ha| 2

¥ X 7| Normal 3™ O|L} 3}tHO| THA QU

B. Handsfree ON Mode
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